N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
S 2arD
B aptol AM A
CHol SARIS A o e (eH9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
s 31,101,097 41,881,265 A 10,780, 168
= 6,431,640
g 14,514,000
= 16,500
= 9,763,957
£ 375,000
oY FMY 2AS) 31,005, 147 41,785,315 A 10,780, 168
= 6,431,640
g 14,514,000
= 16,500
= 9,668,007
£ 375,000
NS Y OO 2,671,700 2,773,080 A 101,380
= 250,000
g 1,546,000
= 16,500
= 859,200
SAS JIZ2AE RS 1,196,000 827,130 368,870
g 897,000
== 299,000
403 XXM SA201H 1,196,000 827,130 368,870
g 897,000
= 299,000
01 XXSHMA=2EX 1,196,000 827,130 368,870
O 442 MXIIE ALXEY
2,990,000, 000& *40% 1,196,000
g 897,000
o= 299,000
=AM RSAIEHE 1,143,750 1,235,000 291,250
= 250,000
g 649,000
& 244 750
403 XXISHHSA20|H 1,143,750 1,235,000 A91,250
= 250,000
g 649,000
== 244 750
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A a4
T Ay FWY 25
Chel: ot sd 9 oY o A
_ _ MNEC
SH-EFHHA(FA) - NIRAE - BES Oﬁno” Hws2
01 XXSHHI2EX 1,143,750 1,235,000 291,250
a2 PAEFAIE 1,247,500, 000& *50% 623,750
= 499,000
& 124,750
ot S22 =4 195,000
= 150,000
[ 45,000
OEEMY sasm8HI =4 325,000
= 250,000
< 75,000
SRRl E=—1p] §="g= =P 95,550 95,550 0
2 16,500
& 79,050
202 Oidl 4,450 4,450 0
01 =UWobl 4,450 4,450 0
OxttE K8 AT H=S 4,450
307 ©QIZ2H0IA 42,000 42,000 0
02 QUZHEAEX 12,000 12,000 0
oA B YOl HastE X
15,000, 000-& *80% 12,000
04 QIZFHAIE = 30,000 30,000 0
4 ZHoIt g &I X 30,000
308 XXIEHMSOIA 49,100 49,100 0
=2 16,500
T 32,600
01 XXHNBMNEEZ 21,600 21,600 0
Ost=248AHdE 25 X
7,200& *10,0005 *30% 21,600
06 W=EII20NUSEES 27,500 27,500 0
OXg 4=4t b ZAIH| X2
55,000, 000& *50% 27,500
= 16,500
& 11,000
FMEISSSAEXE(KHA) 142,000 516,000 A374,000
403 KX SAE01H 142,000 516,000 A 374,000
01 XXSHHIG2EBX 142,000 516,000 A374,000




M 4D
M MY FEHE 25
SRl M sd 2 oY (el =
- _ _ HNE
A -3 -H2A(SH) - HEAMY - BES O AF K Om/?o” Hos
OUs® o) 84X K&
155,000, 000& *40% 62,000
OZ01& JI3AI4d 2= K&
100,000, 000 *30% 30,000
OMSHX E=ZHI 100,000, 000& *50% 50,000
SO HOHE o FY4 4,400 4,400 0
201 Lt 2,000 2,000 0
03 &Ar2gHl 2,000 2,000 0
O =4tg ™ AT &I 2,000
203 LR =XY 2,400 2,400 0
03 AIMFAAR =LY 2,400 2,400 0
O =030 AIBMER 2,400
s4AlE 23 XNESsH XA 90,000 90,000 0
308 AtXISHXSO0I& 90,000 90,000 0
01 AXHHBAEXS 90,000 90,000 0
Ox4ts 23 NAsH N2
15,000,000 *6IH Al = 90,000
Hg 25, 22 5,948,402 11,759,350 25,810,948
= 5,471,640
& 476,762
Ao & 2 A 4,800,000 10,293,750 25,493,750
= 4,800,000
308 XXIEHMSOIE 4,800,000 10,293,750 A5,493,750
= 4,800,000
01 TAXHHBLEXS 4,800,000 10,293,750 25,493,750
OZ2iHs 2EXA 400,000,000 12 4,800,000
= 4,800,000
HE Az 22I3sH XA 831,910 1,066,000 A234,090
= 661,640
& 170,270
307 glzZtold 12,000 12,000 0
02 fltFAE=xX 12,000 12,000 0
O QItXiE =800I 2AEt 24 12,000
403 XXIEHS K201 819,910 1,054,000 A 234,090
= 661,640




M 4D
M MY FEHE 25
o2l oy 25, 22 (el =
_ _ ME
A -3 -H2A(SH) - HEAMY - BES O AF K @;OH Hos
403 XIXISHS K201 < 158,270
01 XXSHHA2EX 819,910 1,054,000 A 234,090
oogrinatszelzsH XA 819,910
= 661,640
& 158,270
HEHS XA 15,000 150,000 A 135,000
= 10,000
& 5,000
403 XXIEMS 201 15,000 150,000 A 135,000
= 10,000
= 5,000
01 XXSHHA2EX 15,000 150,000 A 135,000
OYXH& ™l 20,000,000 *75% 15,000
= 10,000
& 5,000
HERNEH 2 301,492 249,600 51,892
201 Let3| 204,692 192,800 11,892
01 At 2eldl 17,300 17,300 0
ONgXNEH 29 17,300
- Bt~ 2 Y| 500, 000& 500
-1l =l 2,400,000& 2,400
- =Zy| 14,400,000& 14,400
02 ==29gHl 187,392 175,500 11,892
O3 & HA 31,494,000& 31,494
OFul=E PN} =] 155,898
202 O4Hl 21,800 16,800 5,000
01 SLUAHbI 5,000 0 5,000
ONNE & =Ml H X 5,000
02 AN 16,800 16,800 0
OHYREHE 200,000 x12& 7 16,800
401 A& HIL RO 70,000 30,000 40,000
01 A&l 70,000 30,000 40,000
O0gXNE=H HIls=2ldl 70,000




M 4D
M MY FEHE 25
o2l oy 25, 22 (el &)
5 I HNE
A -3 -H2A(SH) - HEAMY - BES O AF K @;OH Hos
405 RHAHE SHI 5,000 10,000 25,000
01 L ESHSHI 5,000 10,000 A5,000
Oodas « CCv 5,000
AAE B .84 9,662,045 9,613,510 48,535
= 692,000
s 5,412,000
= 3,183,045
£ 375,000
MR EEEY 569,220 803,720 A234,500
308 XXIEHMSO0IE 129,320 129,320 0
01 XXSHHILAEXES 129,320 129,320 0
O KRI&FAM 7L X
403,600,000 *20% 80,720
OLAMTA=N B2 405,000, 0003 *12% 48,600
403 XX HMS K201 439,900 674,400 A234,500
01 XXSHXMA2EE 439,900 674,400 A 234,500
O2JtAtel 2 RMALS 266,000,000 *15% 39,900
OLANE +ZIHE ZHH XA
250,000, 0002 *40% 100,000
OLANE SEHd 500,000, 000-& *40% 200,000
OZIULE HOI2E ZE X
250,000, 000-& *40% 100,000
W=9 J|Btxy 766,200 411,800 354,400
= 192,000
s 300,000
= 274,200
206 M=l 45,000 45,000 0
01 MZ 4l 45,000 45,000 0
OZRANZSIUML LR AL 45,000
403 XXIEMSKH201& 721,200 366,800 354,400
= 192,000
s 300,000
& 229,200
01 AXSHMR=Ex 721,200 366,800 354,400
Ol == S A E A X 240,000, 0002 *88% 211,200




2AM: 4
M A FHH A5
SRl AR 25 .84 (Stel- & 3)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
= 192,000
== 19,200
Ol ==HI et LA T =S
600,000, 000& x60% 360,000
= 300,000
< 60,000
OLHLHMEH W BHH S &I X AHY 100,000
OSLSHGAL 100,000, 000& *50% 50,000
OHHAYAID|BIX A 920,000 759,900 160, 100
403 NXISHXHSKH201H 920,000 759,900 160, 100
01 XAXESXMASEEX 920,000 759,900 160, 100
O =S RYUFAS (XA
200,000, 000-& *50% 100,000
O SLAANESEHUHS 1,000,000, 000& *40% 400,000
HBIXSYSHA=A 800,000, 000& *40% 320,000
O ME(BIXY S)SWALX S
250,000, 0002 *40% 100,000
HEXREMAMREHS 2,464,125 2,568,090 A 103,965
rag 1,862,000
== 602,125
308 AHXIEHXMSOIA 570,625 568,550 2,075
g 550,000
& 20,625
01 AXSHMBMNEEXZ 570,625 568,550 2,075
O SAHEESAS 687,500,000 *83% 570,625
rag 550,000
= 20,625
403 NXIEHXHSAH20IH 1,893,500 1,999,540 A 106,040
rag 1,312,000
== 581,500
01 XAXESXMASEX 1,893,500 1,999,540 A 106,040
O SUMUSRIYY= 1,472,000
g 1,212,000
= 260,000
O SRLISUITAM 121,500
Fay 100,000




AT =L
M 4 3YH As
gel: SUE B .84 (el &
- _ - ez
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
< 21,500
O HZRsUEsR0e=
1,000,000,000& *30% 300,000
ABH=AIE 3,880,000 3,895,000 A 15,000
s 3,000,000
= 505,000
= 375,000
308 XIXISHHISOIE 130,000 145,000 A15,000
08 JIEt=RE3 130,000 145,000 A 15,000
O UABUHE=HXIZA 30,000
O =0 2eiAe 100,000
401 AIEHIZ=20Y] 3,750,000 3,750,000 0
s 3,000,000
< 375,000
£ 375,000
01 Al&HI 3,737,250 3,739,875 N2,625
O IBUHEAIEAS 3,737,250
[ 2,989,800
< 373,725
£ 373,725
03 A4 =0 12,750 10,125 2,625
O UABUHEAEAS 12,750
[ 10,200
< 1,275
= 1,275
Hs8 =4 312,500 425,000 A 112,500
s 250,000
= 62,500
308 XXIESMSOIH 312,500 425,000 A 112,500
s 250,000
= 62,500
08 JIEtRE=3 312,500 425,000 A 112,500
O HEsSEXEAY 312,500
[ 250,000
< 62,500




AT =L
M o AW 2
Sl »ARtE 25 .54 (cHel: &
SA-EFH - SA(SAH) - MREAY - BES Off &F K gl,'igig Hws2
AE HOSE Z4AE X& 750,000 750,000 0
= 500,000
= 250,000
403 AXIEHSXH=01H 750,000 750,000 0
= 500,000
S 250,000
01 AXISHX=2E X 750,000 750,000 0
O AR2HIUSEZLEME(EX)
1,000,000, 000& *65% 650,000
= 500,000
< 150,000
O ARZHOSEZSE (X)) 100,000
OE.HE e 12,723,000 17,639,375 N4,916,375
= 18,000
s 7,556,000
< 5,149,000
A0 HAAIAEX 260,000 286,000 A26,000
s 200,000
= 60,000
403 TXIEMSA201H 260,000 286,000 A 26,000
s 200,000
=3 60,000
01 XXSHHA2EX 260,000 286,000 A26,000
O AEUHALINIE XA
400,000, 000& *65% 260,000
s 200,000
= 60,000
ANgolg A4 10,882,500 14,776,000 23,893,500
s 7,106,000
= 3,776,500
401 AIEHIZ R OYI 10,082,500 13,976,000 A 3,893,500
s 7,106,000
= 2,976,500
01 Al&HI 10,052,734 13,943,000 A3,890,266
O Xgoig Jl2 € dANEAHES 200,000
O Xgoeds 8,860,294




AT =L
O e
&Rl HE.0OE Y (Cro =2l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
s 7,088,235
= 1,772,059
O XgoeEI(XHA) 992,440
03 Al&Z=04dl 29,766 33,000 A3,234
O XNgoetds 22,206
s 17,765
< 4,441
O XgoeE 7,560
403 TXIEMSA201H 800,000 800,000 0
01 XXESHHIH2EX 800,000 800,000 0
O NeHEIML XA (KA )
1,600,000, 000& *50% 800,000
HegE222X& 1,200,000 700,000 500,000
403 XXISHMS K201 1,200,000 700,000 500,000
01 XXSHHA2ELEE 1,200,000 700,000 500,000
O g B2 2,200,000, 000-& *50% 1,100,000
O = 2% ==& ZH|
200,000, 000& *50% 100,000
HENS2ZHY 380,500 18,000 362,500
= 18,000
s 250,000
& 112,500
403 TXEMSAH201H 380,500 18,000 362,500
= 18,000
s 250,000
= 112,500
01 XXM A2EX 380,500 18,000 362,500
O HENEOSAREHEXN A
36,000,000 *50% 18,000
= 18,000
O HEME S EZEAMEXA
500,000, 000& *72.5% 362,500
ray 250,000
= 112,500
HHY2HGH| (=41 95,950 95,950 0
Jl2&Hl 91,750 91,750 0
Jl23| 91,750 91,750 0
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